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H m/s 165067 m/s 165066410 (h) | MJ/m® | (m) | (cm) | (cm)
1/-05] 1.4[-29] 74.9[93.8146.3] 9.9 WNW [21.3 | NW |WNW 0] 2.08] 7.0 7 1
2] 1.2 49]-1.6] 75.4193.8156.9| 7.5 [WNW [12.8] W W 0.9] 4.52] L0 8 5
30 3.7] 831-0.9] 76.0/94.6/44.7| 5.7[SSW [10.9] S |SSw | 3.0 6.20| — 5 1
4152 93] 23] 943000.0[72.8] 6.0 S [11.5|WSW | S 0] L67] 9.0 2| —
5 2.9] 81] 0.4] 92.2[00.0/61.0] 6.9 |WNW |17.1|SSW | NW 0] 102]280] — | —
6] 0.2] 2.6|-1.4] 74.4]98.4[48. 7] 7.7 NW |16.2 | WNW | WNW 0] 1.63] 5.0 3] —
713.6] 6.1 0.7] 73.2[95.6[46.6 | 11.1 |WNW |19.1 | WNW | WNW 0] 1.34115.0 3] —
81 33| 6.9|-25] 640/954[46.8] 8.0 [WNW |16.2 [WNW |[WNW | 5.3 6.16| — | — | —
9] 5.4]14.5]-2.9] 69.8/97.9[34.3] 89| S [16.6| S S 7.4] 840170 — | —
10| 0.6 45|-1.5| 84.3198.2[56.2 11,2 |WNW [19.6 |WNW |WNW | 1.2 2.61 |13 0 7] —
f1&EH 25.6 | 66.6 F10.3 | 778.5 82.9 17.8135.6395.0
B 2.6 6.7]-1.0] 77.9 8.3 3. 56
11[-2.0] 0.6/-9.9] 90.21100.0[59.9] 6.1 |WNW |10.4 | WNW | fEH 0] 0.87] 80| 30 7
12[-2.71-0.7]-7.0] 96.6 100.0 [89.6 | 3.7] S 4.5 S |#E 0] 0.57] — 34| 25
‘ 131-2.01-0.2]-3.7] 79.598.8[50.4| 57 |WNW |11.1 | WNW | WNW 0] 0.55] 2.0] 36| 30
| 141-2.1]-1.0|-3.4| 655/90.2(48.8] 7.4 |WNW |14.6 | NW [WNW | 0.8] 2.63| 0.5| 31| 26
15 1-1.8 |-1.0 |-3. 1| 63.687.2/50.6|10.2 WNW |[20.0 |WNW | NW | 0.4| 401 0.5| 27| 21
16 |-1.71-0.4|-3.6| 62.4(851|44.5] 9.6 |WNW |17.4 |WNW |WNW | 0.3 3.78 | — 24| 20
171-1.7] 1.1|-45] 77.3195.9[39.9| 5.5 |WNW |11.0 |WNW |WNW | 1.6 6.49 | — 25 20
181 0.8] 3.9/-2.0| 73.3/96.3[47.7] 9.9 |WNW [19.2 |wNWw |WNW | 2.5| 7.11] 3.5| 23| 18
19 -1.1) 0.3/-2.8] 71.3/90.0[45.7] 9.3 |WNW [16.7 |[WNW |WNW | 0.3| 4.20| 0.5| 22| 16
20 (-3.4] 0.8 |-6.8] 71.4/95.4[54.7] 6.2 |WNW [12.5 |WwNW |[WNW | 2.1 5.52| 2.0 23| 18
f&EHF17.7 ] 3.4 F46.8 | 751.1 73.6 8.0 35.7[17.0
BPERY -1.8 ] 0.3]-4.7] 75.1 7.4 3. 57
211-0.6| 4.4|-7.9] 78.4|97.4]49.3] 4 7|SSE | 6.5| SE [SSE | 7.6| 9.71| — 20 12
22| 2.2 6.4] 0.1 91.5100.0[68.4] 7.3| SE [10.2 | SSE |SSE 0| 3.42] 1.O] 16| 10
23] 3.4] 6.2] 0.7] 97.6100.0[83.7| 3.5 |SSE | 6.7 | WNW | WNW 0] 2292 7.0 11 6
24| 2.1 48] 0.5| 72.810100.0|45.4] 6.4 WNW [11.8 |[WNW | NW | 0.7] 3.77| 2.0 7 4
25| 1.0| 2.0 |-1.0| 57.6/85.6|45.3] 6.9 |WNW [12.1 |WNW |[WNW | 0.6 | 4.32| — 6 4
26| 1.3] 3.9/-1.3] 72.2000.0[52.4| 9.8 |WNW [19.3[wWwNW | NW | 2.5] 5.22| 1.5 10 4
27 1-1.4| 1.3 [-3.3] 76.2099.2|47.6] 8 2 |VWNW |14 1 |WNW [WNW | 0.5] 4.14| 45| 20 8
28 |-1.8] 2.0 |-7.5| 84.910100.0|51.5] 5.7/SSE | 7.1 |SSE [SSE | 5.1 835| 0.5 20 9
29 1-0.6] 2.71-5.8] 93.50100.0[78. 2] 6.0|SSE |10.2| N |SSE 0] 2.90112.5] 14 9
30 |-1.6] 2.3]-45] 743[982[49.3]11.9] S |22.2] S |WNW 0] 3.21] L5] 17| 12
31[-0.3] 2.2 /-39 68.6/89.844.1[11.1 [WNW [19.5 |WNW |WNW | 0.3 ] 4.22| 0.5| 19| 15
f&EH 3.7 138.2 F33.9| 867.6 81.5 17.352.18 [ 310
B 0.3] 3.5]-3.1] 789 8.2 5. 22
H&eH 116 [108. 2 F91. 0 | 2397. 2 038. 0 43.1 123,54 143.0
HE 0.4] 3.50-2.9] 71.3 7.7 3,99
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H m/s 16750 m/s 16506067567 (h) | MJ/m® | (mm) | (cm) | (cm)
10 1.7]32]-0.2] 92.2199.6[53.6| 8.6 |WNW [16.5| NW |WNW | 0.2 | 2.80|27.0] 21| 15
2104 21/-1.5| 82.9/98.1[57.8[ 7.6 |WNW |12.0 [wNW |[WNW | 1.8| 6.78| 40| 25| 18
31-0.3] 2.7[-2.1| 78.3[99.1[5L.9] 5.6 W [10.5] W |[SSE | 1.1| 6.35] 3.0] 33| 23
41-0.2] 3.4]-6.7] 79.1[94.849.2] 5.2 W 8.7/ W |SSE | 42| 876 — 33 24
5/-6.6| 1.7F12.7| 88.4[00.0/51.2| 2.0 [WNW | 3.3 |NNW |%ZEH | 1.2 | 6.78 | — 25| 23
6/-1.2] 3.7/-8.3 | 81.9100.0[48.0] 5.5 /WNW [10.3[WNW |[WNW | 2.0 7.25| 3.0| 28| 23
71 1.9]35] 02| 69.9[87.3[48.9] 5.4 |WNW [10.8 [WNW |[WNW | 1.2| 6.51| L5| 28| 26
8] 2.7 58[-2.0| 82.1/97.5/61.9] 6.3 [WNW [11.2] S [SSW | 0.9| 3.51 120 26| 19
9] 0.6 49]-2.7] 81.6]99.5/59.5] 5.8 N |1L.0| N N 3.1 840 7.5] 341 17
10 [-0.4 ] 1.7]-3.1] 87.2/99.4[62.5| 5.7 |WNW [1L1.5 | WNW | W 0.7] 3.78]13.0] 43| 33
Bi&eH -1.4 [32.7 F39.1 | 823.6 57.7 16.4] 60.92 | 71.0
B4 -0.1] 3.3]-3.9] 82.4 5. § 6. 09
11] 1.6 5.2 )-2.1] 72.0/93.1[56.6| 6.1 |SSE | 9.5|SSW |SSW | 2.6| 9.69| 0.5| 40| 29
12| 3.3]10.0|-48| 66.9/97.5/42.4| 6.7[SSE | 8.4 [SSE |SSE | 2.9| 11.13| 10| 29| 24
131 3.0 53] 0.9] 85.10100.0/65.2| 48| S 7.4 SW |SSE | 0.1] 541 40| 24| 20
14| 1.7] 361-2.8] 71.5/94.7|47.8 | 6.2 [WNW | 9.9 [WNW |WSW | 1.1| 5.88] 0.5| 22| 17
15]-1.2 ] 2.5/-5.4] 90.6 100.0[77.1] 5.5|SSE | 6.5 | SSE | SSE 0] 540 5.5 23] 18
16 |-0.0 | 5.3 /-6.0 | 92.8 100.0 |60.2 | 9.0 [SSE |[14.1 [WNW [WNW | 1.8 | 6.38|140| 25| 18
171-0.1] 1.9/-2.3] 79.6[96.0|52.7| 8.8 |WNW [16.5 |WNW |WNW | 1.0 | 6.44|10.0| 34| 25
18] 0.3] 1.6 /-1.5| 78.1/92.8[58.9] 83 |WNW |15.0 | WNW | WNW 0| 557] 2.5] 35] 32
191 23] 33] 0.9 62.8|74.1[53.4] 5. 1|/WNW | 9.0 NW | NW | L1| 6.96| — 32| 28
20| 1.4) 3.3/-0.6| 69.0/97.0[47.0] 5.8 [WNW [10.3 | W [WNW | 2.2| 8.62| 85| 35| 26
H&eH 12.3 [42.0 F23.7 | 768.4 66. 3 12.8 | 71.48 | 46.5
B 1.2 42]-2.4] 76.8 6. 6 7.15
21 1.8) 40]-2.9| 83.817100.0/59.0] 7.4 |WNW |[14.0 [NNW | NW | 0.5| 6.75] 7.5| 35| 29
22| 2.4 3.2 0.6| 63.4/85.4/47.4| 7.6 |WNW [12.9|WNW |[WNW | 0.4| ©5.34| 0.5| 29| 27
23] 25| 6.7/-0.9| 72.5/98.9|42.8| 55[SSE | 9.2 |SSE [SSE | 59| 12.41]10.0| 28] 25
24| 25| 38] 02| 59.3/97.0/44.1[ 5.0 [WNW [10.2 | NW | NW | 25| 9.29] 1L.0| 26| 23
25] 0.9] 45]-6.0| 63.6[96.1/42.9] 3.2 |WNW | 5.4 NW | W 49] 975 — 23] 22
26 | 1.3 6.8 |-6.1| 69.8/99.4/41.0[11.4|SSE |15.1(SSE | SE | 6.0 11.40| 10| 23| 21
27| 3.0 58| 0.2 83.7[00.0|525] 6.8 [WNW |11.6 |[NNW | NW | 1.4 6.50| 2.5] 221 18
28 | 2.3 | 5.8(-2.1| 58.9|84.5[37.2| 7.4| SE [10.8] SE | SE | 9.2 14.97| — 18] 15
B4+ 16.7 | 40.6 F17.0 | 555. 0 54,3 30.8 | 76.41]22.5
BPE 2.1 5.10-2.11 69.4 6.8 9, 55
HASH 27.6 115.3 F79. 8 | 2147. 0 178.3 60. 0 | 208. 81 [140. 0
A 1.0 411-2.91 76.7 6. 4 7. 46
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H m/s 167567 m/s 16756067567 (h) | MJ/m® | (mm) | (cm) | (cm)
1] 42] 80| 1.3] 72.7]94.1]54.1] 7.5|WNW [12. 1 |WNW [SSE | 1.6| 8.99| 40| 16| 12
21 09] 227[-1.3] 70.2]90.7[51.6] 6.4 WNW |11 7 |wNw [wNWw | 20| 8.33] 3.5| 15| 12
3/-1.4] 0.3]-41] 91.8[100.0[77.7] 42|SSE | 6.7| SW |SSE 0] 565] 85| 26| 12
41 01| 4.4]-2.8] 87.910100.0[645] 3.0 S 6.1[WNW | NW | 20 9.49] 0.5] 20| 13
5] 0.1] 3.8[-3.3] 87.61100.0[49.3] 6.3 [WNW [11.2|wNw [wNW | 2.5| 9.84| 85| 23| 15
6] 1.8] 3.9[-3.0| 65698.4[37.7] 83 |WNW [13.2| NW |WNW | 5.4| 12.01| 15| 24| 19
71 31 6.8] 0.6 70.1[93.6[52.7] 3.4[SSW | 5.8| SW | SW | 3.0| 9.28| — 20| 18
8] 36| 5.6 1.5| 88.0/98.9/58.6] 5.6 WNW |10.1 |WNW |WNW | 0.2 | 4.83|22.5| 18| 14
9] 44] 6.5]-0.7] 59.4/83.2[43.9] 6.8 |WNW |12.9] W |wNw | 9.1| 13.18| 1.0 | 15 7
10]-1.9] 3.2/-6.8| 73.4[97.3/36.5|11.8|SSE [15.7|SSE | SE | 2.0 10.01| 6.5 8 3
f&a1 13.9 | 45.2 [18.6 | 1766.7 63. 3 27.8 | 91.6156.5
B 1.4 4.5(-1.9] 76.7 6.3 9,16 ‘
11] 2.6] 42] 1.6 99.5[00.0[95.2 | 3.7 |SSE | 5.0 |SSE |SSE 0] 4.09]17.5 4] -
12] 3.5 87/-0.9] 81.21100.0[55.4] 3.1] E 5.4 |ENE | E 8.6 15.41 ] — 1] -
13] 3.4 81]-1.1] 80.3100.0[48.9| 4.5 |WNW | 7.1 |[NNW |NNW | 6.7 13.91] — | — | —
141 40] 70 1.9] 89.6[99.2[69.7| 4.6[SSE | 7.4 SW [SSE | 1.7| 8.69| 3.5| — | —
15] 46| 9.7/-0.7] 74.9]95.5]44.8| 2.8 NW | 5.7 Nw |SSE | 8.2 148 ] — | — | —
16| 6.2 11.5|-1.8| 73.9099.3[48.4|11.5|SSE |18.9[SSE | SE | 2.7] 10.45| 1.5| — | —
171 9.7]17.4] 10| 79.51[100.0[53.5] 8.2 |SSE [12.0 |SSE |SSE | 1.8| 7.46|25.0| — | —
18] 1.9] 5.2[-1.4] 67.6/97.5[45.5| 3.9 |WNW | 6.9 NW | NW | 2.5| 11.48| — | — | —
19] 2.4] 80]-2.0] 83.4]97.5[48.3] 7.2/SSw [11.9|sSSw [ssw | 2.9] 9.57| 9.0 — | —
20] 5.5[10.0] 0.7] 69.7[99.8142.9] 6.1 [SSW [12.2SSW | S 7.0 1437 3.0 — | —
f&at 43.8[89.8 | -2.7] 799.6 55. 6 42,1110.31 ]59.5
fRES 4.4 9.0]-0.3] 80.0 5.6 11. 03
2111071159 4.7] 49.2083.3[28.0] 6.7 |SSW [13.0|SSW | § 9.0 1746 — | — | =
22 4211071 0.1] 75.2098.0[50.7] 5.1 |SSE [11.3] NW |NNW [10.5| 16.64]12.0| — | —
23] 3.2] 85 0.2 74.1[955[47.8] 2.9 N 53] NW | NW | 48] 13.05] — | — | —
241 3.9] 6.0 0.8 94.2199.5[85.9| 2.9 |SSE | 5 4 | NNW | WNW 0] 3.03]15.5] — | —
25| 2.2 4.3]-0.3] 82.81[100.0/50.3] 4.1 [NNW | 8.6 NNW | NNW 0] 54390 — | —
26 1.3] 5.4|-1.3] 70.788.6[42.7| 3.6 |SSE | 6.4 NW |[SSE | 6.5| 12.71| — | — | —
27 41710.2]-1.6] 78.3/96.8[39.2] 9.2] S [16.2] S S 50| 12.83] 7.5] — | —
28] 4.1] 6.8 1.1] 81.7[98.9[57.9] 6.7 |WNW [1L2 [wNw | W 4.2 9.11[10.5] — | =
29 ] 5.9]12.9] 0.3] 66.4]89.7/30.9] 3.8] S 59| S |SSE | 3.6] 14.38] — | — | —
30| 82142 1.4 78.7[95.8[51.3]10.9] SE [16.4] SE | SE | 0.2| 845] 55| — | —
31| 86 |11.2] 5.7 90.21100.0]75.1] 5.6 | SE [1L.2] W W 0.3] 492 65| — | —
&1 56.4 106.1 [11.1 | 8415 61.5 44,1]118.01 | 66.5
ERE 5.1 9.6 1.0 76.5 5.6 10. 73
H&at14. 1 241.1 -10. 2 | 2407. 8 180. 4 114.0 [ 319.93 182.5
H3XEH 3.7 -0.3] T71.7 5.8 10. 32
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H m/s 167507 m/s 167507167567 (h) | MI/m® | (mm) | (cm) (cm)
1] 6.1]10.1] 3.0 71.6 197.3 [44.9 | 11.0 |WNW |25.9 | W W 2.4 6.83| 9.0 — -
21 44 7.0] 1.0 56.0 [95.2 [35.0 | 9.4 |WNW |19.4 [WSW | wWNw 6.9 14.30| 2.5 | — -
31 42 6.9 0.5 64.8 193.6 [43.3 | 83 |WNW |16.6 | WNW | WNW 48| 11.31| 5.5 — -
41 9.9(12.9| 4.3 63.5(82.1]51.0| 6.8 {SSW |18.5] W SSW 113.0) 19.37| 1.0| — -
5] 9.11(18.3] 2.3 67.9194.9/29.9| 3.6 | SE 8.2 |WNW |NNW |10.4] 19.93| — - -
6111.1]20.2| 1.4 64.3 195.6129.0 | 6.3 |SSE 8.9 | SSE | SSE 6.9 18.04| — — -
7110.2112.8] 6.9 69.4199.2139.7[10.5| W 19.6 | W W 6.1 10.98| 4.0| — —
8§110.4]19.1| 1.5 53.5190.2 25,4 5.9 |SSE 8.3 S S 11.0| 20.53 | — - —
9112.3]21.0] 4.7 74.5198.9140.7| 7.9 |WNW |14.3 | WNW |SSE 4.3] 10.55]17.5| — -
10| 6.1] 84| 3.3 61.2 196.0 {387 | 80 |WNW [16. 4 W WNW 7.6 15,58 110.0| — —
mEEH 83.8 [136.7 [ 28.9 | 646.7 71,17 73.4 | 147,42 | 49.5
G 8.4 113.7] 2.9 64. 7 7.8 14. 74
111 49 9.4/ 0.5 60.0192.7143.9] 5.2 |WNW |10.0 | WNW NW 1102 20.04| — — —
12 531101 0.3 87.0199.8 | 60.8 ] 9.1 |WNW |15.9 | WNW | wWNW 0 3.04119.0| — —
13| 85120 5.4 66.6 | 88.8 |38.7| 7.5 |WNW | 14.8 | WNW W 1.8 ] 16.62 | 1.0 | — —
14 110.2 [15.7] 3.7 65.3195.4(31.9| 52 SSE 7.3 | SSE | SSE 0 9.50 | — - —
15] 9.8 145 4.8 78.0199.8 147.2| 4.4 N 7.6 | NNW | NNW 3.3] 20.83 | — — —
16 | 10.5 117.3 | 2.4 77.1 100.0 |51.8 | 7.5 | SE 9.9 | SSE SE 8.8 17.83| 4.5| — —
17 88121 2.6 87.6 1100.0 | 74.4 | 5.5 | WNW 9.4 | WNW | WNW 2.0 8.5 1| 0.5| — —
18 [12.1]21.0(-0.5 69.9 [100.0 |40.6 | 8.7 | SE |11.6 [SSE |SSE [1L 2| 20. 7| — — —
19] 9.9113.2| 4.8 70. 9 10.1 |WNW | 19.4 | WNW | WNW 0 2.95128.5| — -
20 8.9(11.3| 4.4 11.5 10.1 [WNW [22.8 |WNW |WNW |14.4] 22.55| 1.5 — —
&1 88.9 1136.6 [29.4 | 673.9 73.3 67.7 | 142.65 | 55. 0
B 8.9 [13.7] 2.9 67. 4 7.3 14, 27
21 110.8119.7| 1.4 11.5 6.9 [WNW | 11.1 | WNW | WNW 9.8 23.06| — — -
22 113.6118.9| 8.0 11.2 5 2 |SSE |10.4| S SSE 0.3 7.38| — — .
23 115.1123.7| 8.2 11.0 9.5 |SSW [23.0] S WNW 0.9 4.54 148.0| — -
24 —
25 115.4119.1 (119 72.9192.3153.1| 3.5| SE 4,4 | ESE SE 2.3 3.51 | — - —
26 {11.2 | 15.0| 8.3 87.8 100.0 [66.9] 9.3 | W 19.5 | WNW W 1.0 562 |18.5| — -
27 111.8 |16.8| 8.9 88.2 199.8 |67.4 | 4.8 | NNW 8.5 | WNW | WNW 0.5 1.86 | — — —
28 114.71(23.4| 7.4 67.1 100.0126.0| 3.0 | NW 6.5 | N NW 9.4 19.83| — — —
29 116.6 /24,0 6.4 66.5197.0(36.9| 7.9 [SSE |11.2 |SSE |SSE 8.6 21.41| — — —
30 116.7(23.012.4 82.2 1100.0 | 57.5 | 5.2 | SSE 6.4 | SSE SE 1.1] 12.82| 1.5| — —
H&5H125.9 [183.6 | 72.9 | 498. 4 55. 3 33.9 100,03 | 68.0
EPEA 12,6 [18.4 ] 7.3 49, 8 55 10. 00
H&51298. 6 156.9 131, 2 | 1819. 0 206. 3 175.0 | 390.1 [172.5
A 10.0 [ 15.2 | 4.4 60. 6 6.9 13. 00
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=] m/s (6430 n/s 16566750 (h) | MJ/m® | (mm) | (cm) | (cm)
1]16.5/21.0]10.5| 76.3000.0[52.7/10.3] SE [13.9] SE | SE | 1.0 12.33] L0 | — | —
2116.1120.9]13.3] 87.5[99.9/72.3] 86| SE |14.0] S SE | 2.4] 848] 20| = | —
31146 [18.5[11.4| 88.71100.072.5| 9.4 [WNW |15.3 |WNW | NW | 5.1] 16.69] 0.5 | — | —
41126 [17.2] 9.1 63.486.6 /331 6.8 |WNW [11.9 |WNW | NW | 85| 21.271 0.0 — | =
5111.1[16.2] 7.3 74.3[96.7[36.0| 5.0SSE |11.5|SSW |WSW | 8.6 18.68| 1.5 — | —
614.1/23.3] 55| 66.7[96.1/21.9| S.0|WNW [15.0 | W |WNW |12.1| 24.28] 6.0 — | —
71114 155] 6.5] 75.4[96.3]52.0] 4.4 |[WNW | 6.5 [WNW | W |10.9] 2505| — | — | —
8112.1/18.8| 58| 74.1100.0[36.9| 4.6 |WNW | 7.0 |WNW | NW [11.9] 24.62| — | — | — |
9113.5[20.3| 53| 69.8/96.4[39.3] 3.1|SSE | 6.0 NW | NW | 82| 2..49| — | — | — |
10 [19.4[28.8] 89| 61.5|9L.7/22.1] 7.8| SE |11.6| E E [1L0] 23.93] — | — | =

fJ&aH141. 4 P00.5 | 83.6 | 737.7 69. 0 79.7 [196.82 | 11.0

G 14.1(20.1] 8.4 73.8 6.9 1.97

11 20.1[23.6[14.4| 63.6[87.7/56.4[12.7] SE |22.1[SSE | SE | 5.2 16.38| — | — | —
12 [17.1]21.2|11.6] 71.8|97.5]52.2| 7.9 SE |12.0 |ESE |ESE | 3.1 17.67| — | — | =
13]17.4120.9]13.4] 75.2]94.3|6L.2| 7.8 | E |12.1|SSE | E 2.0 13.02] Lo — | —
14 [14.6 [17.7]11.6 | 91.6[99.3/80.6 | 2.6 |ENE | 4.1 |ENE | SE 0] 57| = | = | =
15 [14.716.5|13.4] 98.0100.0]89.9] 3.8 |SSE | 4.7|SSE | S 0] 491] 30| = | =
16 [16.7 [20.9]13.0] 89.31100.0 641 4.3 E 8.1 NW |NW | 3.4] 1447 5.0 — | =
17 112.9114.6 [11.3 | 97.1100.0 [87.4 | 6.3 |WNW [12.3 |[WNW |WNW | 0.1| 5. .73 40.5| — | —
18 |13.8 [18.8[11.2| 83.7[95.7/69.6| 48| SE | 6.5|SSE | NW | 81| 21.39 | — | — | —
19 [17.6[25.8] 9.0 71.81100.0/39.9] 5.8 SE | 74| SE | N |12.4]| 26.34| — | — | —
20 [19.0[28. 1 ]12.1 ] 64.1192.8[27.7] 4.2|SSE | 6.1 |WNW |NNW | 5.3 19.42| — | — | —

f14EH163.9 08. 1 [121.0 | 806. 2 60. 2 39.6 | 145,04 | 49.5

BPEYY 16,4 [20.8 [12.1] 80.6 6.0 1. 45

211160 17.914.7] 89.21100.0 710 3.2 |WNW | 5.6 |WNW | W 0] 51230 — | =
22 115.3[20.6 |11.4 ] 92.7000.0|74.3] 7.1 W |16.2| W [wNw | 0.2 6.31] 80| — | —
23 [13.917.6 [10.8| 78.8197.5[50.1| 6.0 |WNW |11.2 |WNW |WNW | 7.2 | 17.8512.0 | — | —
24 [15.5[20.9/12.5| 66.9/97.8(29.7] 6.9| S [12.6| W W 4.5] 12.83] 2.0 — | —
25120.3 /256141 | 54.1[85.0032.7] 6.5 S |11.5|SSW |SSW | 0.5| 14.45| — | — | —
26 [16.8 [21.0 1.2 75.1[94.4[50.4] 6.3 W |14.2] W W 7.3] 156,00 55| — | =
27 [14.1]19.3] 9.0 76.4/98.4(46.4| 50 S 9.8 W\ | W [1L1] 26.11] 0.5 — | —
28 115.0[21.2] 7.7 79.1[100.0]57.3] 3.4|[WNW | 6. 1 |NNW | W [10.0] 24.42| — | — | —
29 [17.2 ]22.8112.7] 79.11100.0]48.5]11.7] SE |18.2 |SSE | SE | 2.2| 12.93| 2.0| — | —
30 [17.3123.2[13.5] 83.410100.0|42.1! 5.3 |WNW [10. 1] W |WNW | 8.4 19.47| 40| — | —
31 [16.7[23.6[11.9] 77.710100.049.4] 7.1 [WNW |13.3 |WNW |WNW |17.2] 23.23| — | — | —

FIA&EHL78. 1 P33.7 129.5 | 852.5 68.5 68.8 | 177.72 [ 37.0

GPEY 16,2 212 [11.8 ] 77.5 6.2 16. 16

H&21483. 4 p42.3 B34.1 | 2396. 4 197.7 188.1] 519.6]97.5

FFH 15.6 [ 20.7 [10.8 | 77.3 6. 4 16. 76
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B B R | B 7K
2|83 |85 | KB A A A I~ S =1 G O =1 O = A =2 | K| /b
H m/s 1670 m/s 16750716507 (h) | MJ/m® | (mm) | (cm) | (cm)
1/15.1[17.6/11.3] 75.8]90.1[62.1] 6.4 |WNW |13.0| W W 3111615 — | = | —
21156 1217 9.7 75.910100.0 52.2] 2.8 NW | 7.7 N |NWW | 9.5[23.21| — | = | =
3017.1123.2110.2 | 81.1[100.0[52.2| 9.7| SE [14.0| SE | SE | 0.6/12.95| 7.0| — | —
4119.7[22.5/17.0 ] 82.7/97.0[65.0[13.4 [SSE |18.9 | SSE | SE 0] 6.39] 5.5] — | —
5017.1120.7|14.3 | 81.8[99.2 [60.2| 5.4 [WNW | 89 |WNW |WNW | 3.6 |14.34| — | — | —
6117.2 (21,2 14.2 | 84.2[98.2 (643 3.8|WNW | 5.3 |WNW |WNW | 2.1 14.34| 2.5| — | —
71188 126.414.9 | 81.0[98.7/48.4| 4 5[ESE | 7.7 |NNW | NW |11.5|26.83| — | — | —
8119.2[25.1[13.1] 77.21100.0{50.0 | 48| E 6.9 E E 1.8]16.45] — | — | —
9120.3(24.4[15.6| 70.5/92.1|54.2| 9.2 |SSE [13.5|SSE |SSE | 3.1]17.92| — | — | —
10 {18.6 123.0 /145 80.5[96.2 [61.4 | 4.7 |WNW | 7.4 [NNW | NW [11.3[26.97| — | — | —
AEHL78. 7 P25.8 [134.8 | 790. 7 64. 7 46.6 [175.55 | 15.0
By 17.9 [22.6 [13.5 | 79.1 6.5 17. 56
11172 121.2 141 81.1]945(59.7| 46| E | 7.2 E |ww | L.2]10.82| — | = | =
12 |17.6 [ 23.6 /100 76.0]97.8 [53.0| 3.1 |WNW | 5.0 |WNW | W 812304 — | — | —
13119.0 [24.8/14.9] 76.41100.0[43.4| 7.0 |SSE |12.1| E E 0l1Le2| — | = | =
14 119.5[23.1[15.9] 70.8 [87.4[53.7 [ 11.1|SSE |16.3 |ESE | E 2.4[14.20] 55 — | —
15118.4 120.6 /16.8 | 50.0]96.9[19.2 | 6.3 |ENE |10.0 | ENE | WNW 0] 6.37] 20] — | =
16 [16.5 [ 18.3]15.3 32 [WNW | 4.5 [ wNw | ww 0] 48] 20| — | —
171721211 14.2 4.0 |WNW | 6.5 [WNW | NW | 4012.21] 0.5 = | =
18 121.2129.313.8 49| E 7.7 E E 8.4[23.99] — | — | =
19 20.2]23.8/18.3 55| S 9.9SSW | w L7]952] 25| — | =
20117.8119.4(16.2 4.2 1WNW | 6.9 [ WNW | VNW 0] 480205 — [ —
HIAEHI84. 6 £25. 2 149. 5 53.9 25.8 1121.39 [ 33.0
B 18.5 | 22.5 [ 15. 0 5.4 12. 14
21 18.3]21.116.2 3.4 |WNW | 5.4 [WNW JWNW | 1.4]10.53] 0.5 — | —
22 [17.6 [20.7 [14.7 3.9 |ENE | 6.3 E |ENE | 0.4[10.40| — | = | =
23 118.6[23.1]14.6 42| E 6.0 |[ENE |ENE | 0.3[15.27] — | = | =
24 118.6 [22.116.3 5.1 [WNW | 8.4 |WNW [wwW | 2.0[11.29]13.5] = | =
25 120.5 [ 25.5 | 16.9 3.2 N 6.3/ N |NW |10.8[24.97] 1.5 — | =
26 [21.0 | 26.5 | 16.3 5.4 |WNW | 85 |WNW [WW | 7.4]20.8 ] — | = [ =
271 119.7]21.717.6 4.2 |WNW | 5.9 [WNW |WNW | 0.3] 8.41| 0.5 — | —
28 119.7123.516.6 3T WNW | 6.9 NNW | NW | 2701616 — | = | =
29 120.0[25.2115.5 3.3 NNW | 6.4 NNW | NW | 402041 = | = [ =
30 [22.8129.9[15.3 3.0 [WNW | 5.5 WNW [ W 1132461 — | = | =
B)142HL96. 8 £39.3 160. 0 39, 4 40.6 1162. 91 | 16. 0
BPFE 19.7 [ 23.9[16.0 3.9 16. 29
H&:1560. 1 690. 3 444, 3 158. 0 113.0 459.85 | 64
FEH 18,7 23.0 [ 14. 8 5.3 15. 33
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EIEEE - ”
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2 |08 5| K ¥ . A NS S I = I S O =1 A =1 R | = 2 | Kk | /b
H m/s 16507 m/s 1656716507 (h) | MI/mé | (mm) | (cm) | (cm)
11210229 19.4 3.8 | WNW | 6.4|SSH | NW 0] 541 25| — | -
5 22.928.2119.8 5.4 |WW | 9.7 W | S | 28] 1488]185| — | =
3722.5 253 199 48 SE |10.8] S WK | 0.1 5031160 = | =
40217 26.1]19.3 3.1 WNW | 5.0 |WN |WWF | L7 1L65] — | = | =
5 21,3 | 24.118.9 3.5 |WNW | 5.5 W | W | 0.0] 809] = | = | =
6210 24.5|17.6 381 S | 6.2 |SSE | W 0] 546 — | — | =
7122.426.3 19,5 3.9 WNF | 7.0 W | W | 7.4] 1938 = | = | =
8 [ 21.725.7 17,9 4.0 | WNW | 6.2 |WNW | WNW 0] 960] 10| — | =
922.1]24.919.1 4.8 SSW |14.0| W | SE 0] 461|15.0] — | =
10 | 25.1]27.0 | 23.4 5.9 | SSW |15.2 |SSW |SSW | 0.5| 6.49]165] — | —
FA=F021. 7 55, 0 1194, 8 13,0 12.5] 90.60 | 69.5
GRFH 22,2 | 25.5 1 19. 5 13 9. 06
1123.625.5 | 218 6.1 SO | 11.6 | SSW | SSW 0] 310|255 — | —
| 12 [24.7 [ 28.2 1209 55| W |1L1| W |WSW | 5.0 1811] — | = | =
13 [24.8 [27.223.0 4.1 SSW | 7.9 |SSW | SSW 0] 649 Lo| = | — |
14 [23.125.7]18.5 590 S | 9.4 W |WW | 20| 875330 — | =
| 15212 | 24.5 | 17.9 5.0 | WNW | 10.1 |WNW |WNW | 5.0 19.80 | — | — | —
| 16 120.123.018.0 3.8 SE | 5.4 SE | SSE 0 479(37.0] = | —
171204 23.419.1 4.6 |WNW | 8.1 |WNW |WNW | 0.3 8.80] 40| — | =
| 18 [20.4 [23.118.2 3.5 |WNW | 65| % | W | 1.8| 11.65] 55| — | —
| 19 121.326.917.3 40 |WNW | 5.7 |WNW | MW | 2.9 15.18] 2.0 = | =
| 20 (20,4 [21.7]19.3 6.3 |WNW | 10.0 |WNW |®E | 0| 3.08 1L5| — | —
EA=T020. 0 P49, 2 1194, 0 18, 8 170 | 99.75 119.5
| GRFH4] 22.0 | 24.9 | 19,4 49 9,98
21 120.1]2L.119.5 3.7 [WNW | 7.0 | W | W 0] 378|230 — | =
| 22 123.227.8 | 19.1 33 WSW | 8.6 SW | W | 0.9] 1465] 20| — | —
93 [25.6 30,2 | 22.0 STIWNW | 7.8 NW | N0 | 9.4 16.49] 0.5 — | —
| 24 [27.7136.2 | 21.3 3.6 | WNW | 5.7 |WNW | W | 13.0 | 2431 — | — | —
| 25 [26.128.8 | 24.0 4.8 |WNW | 9.9 |WNW |WNW | 3.3 12.88] 7.5] — | —
26 [25.9 30,2 | 22.1 5.4 [WNW | 7.9 | WNW | W | 7.2 15.86| — | — | —
27 [25.6 |31 4] 20.6 41 WNW | 6.8 |WNW NN |13.4] 25,42 — | — | —
28 24,9 |32.118.7 49 |WNW | 8.8 NW | W [13.0] 2597 — | — | =
29 25.5133.3 | 18.5 L7 WK | .9 W | W 122 2474] — | — | =
30 1 26.6 | 33.8 | 19.3 46| S | 9.8 W | W [133] 2447 = | = | =
31267 |3L.2 | 2L5 4.3 SSW | 9.6 |WSW | W | 45] 18.25] — | — | —
EI&=T77. 9 B36. 1 226. 6 17,1 90.2 | 206,82 | 33.0
EFH] 25.3 1 30.6 | 206 13 20. 68
F&2H119. 6 B40. 3 B15. 4 138.9 119, 7 | 397. 17 £22. 0
FF#y 23.2 | 27,1 19.9 15 12. 81
Y FHRE : 144EEEDEY
FEFHEE ”
BN CES) JEGE . HERAR 10 RS EoE
OB E AR D 72 O R




9 ©HB = = 99
E I 5 2 H #
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W BB I = | &= | B | B | B | B | % | B H B R | =B
Cid B O &t 7K
E S I =2 & ¥ . I A S =1 I S O =1 O =1 A O =2 2 | K | /h
H m/s 16567 m/s 1675060167507 (h) | MJ/m* | (mm) | (cm) | (cm)
1126.9| 30.0]24.3 5.2 |WNW |11.0| W SSW 1.1 12.15(13.0| — -
2125.5| 29.3123.3 4.7 W 7.8 W WNW 2.2 12,57 7.0 — —
3124.8 | 27.7|22.7 4,0 | WNW 6.2 | WNW | WNW 1.2 10,18 {28.0| — -
4122.6 | 23.6122.0 2.5 | WNW 4,3 | NW N 0 2.01172.5] — -
5125.3| 31.3121.9 3.2 | WNW .71 W WINW 2.7 14.46| 2.5 | — -
6255 28.4123.1 3.7 | WNW 7.4 | WNW | WNW 2.9 11.43|17.0| — -
7126.2 | 29.5|22.7 6.1 W 12.0| W W 3.3 14.50 (14, 5| — —_
8127.9 | 31.5(22.7 6.1 |WNW |13.0 | WNW SW | 15.8 | 24.20 | — - -
9126.9] 31.9]20.9 4,2 | WNW 9.5 | SSW S 45| 16.63 | — - -
10 124.7| 28.1(21.7 4,81 S 12.2 | NW SW 3.3 8,43 102.0 | — -
B1&EHR56. 3 | 291. 3 225. 3 44, 5 37.0 | 126. 56 256. 5
G4 25.6 | 29.1(22.5 4,5 12. 66
11 122.2 | 25.3119.8 6.1 | SSE 9.6 | SSE NW 3.6 14.33117.0| — -
12 122.5| 26.2 |18.7 2.2 | WNW 4,5 | NNW | WNW 2.3 12,41 | — - —
13 124.3 | 30.8 |17.5 2.7 W 5,0 | NNW | [12.3| 23.49 | — — -
14 126.3 | 32.4120.6 3.5 | SSE 5.8 | SSE NW |10.4| 20.95| — — -
15 126.8 | 31.6|23.5 4,21 S 10. 8 | SSW W 1.4 13.58 | — — -
16 | 24.3 | 30.4|21.3 4,4 |NNW |10.5 | NNW | WSw 1.6 9,31130.5| — -
17 122.0| 26.2 |17.0 3.5 | SSE 7.1 | NNW NW 110.1( 23.16 | — - —
18 124.9 | 32.0116.4 4,0 | SSW 8,3 |WSW |WSW |11.7| 20.48| — - -
19 127.6 | 31.8]23.3 .1 | WNW |11.1 | WSW W 12.1] 21.95| 2.5 | — -
20127.5| 33.5|21.6 3.6 W 6.0 | W SSE |13.0| 21.90| — - —
T15310248. 4 | 300. 2 199, 7 39.3 78.5 | 181.56 | 50.0
G4 24.8 | 30.0 | 20.0 3.9 18. 16
21 125.1 | 28.7122.8 6.8 |WNW |14.8 | W WNW 2.1 8.13164.0| — -
22 124.7| 28.2|21.7 3.5 | WNW 59 | WNW NW b4 12.79( 45| — -
23125.4| 30.9(21.0 3.8 | WNW 5.8 | WNW NW 7.1 16.32 | — - —
24 127.4| 33.0122.3 45| W 33| W W 9.9 17.74 | - - -
25 127.3 | 32.7121.4 4,51 W 1.3 W W 82| 17.88 | — - -
26 126.1| 27.8|23.0 1.8 59. 0
27 124.6 | 28.2122.7 0.3 13. 0
28 123.5 | 27.4120.2 1.9 14.0
29 121.6| 25.3]18.0 9.1 -
30 121.9 | 26.6|15.7 3.8 -
31 122.3| 24.3{20.4 46. 0
TIaETR44. 8 | 284. 4 R06. 4 136. 5
G 24.5 | 28.4120.6
H&21520.1 | 614. 6 1430, 4 199. 5
H¥34 16.8 | 19.8 [13.9
Y FHRE :HEHEDES
ERHRREE - ”
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1995 9H =i
B A B COMMNEE (% Bk CEHYIELS GE) & | B B = |
@olE | R | B ¥ g[8 BARE[RER|&R| % | B H B R | B
92 J&@ | B 5t 7K
2 |08 |5 | K ¥ KL/ &E | @\ | E | A E | E = 2 | K | /W
H m/s 16750 m/s 1650667507 (h) | MJ/od® | (mm) | (cm) | (cm)
1123.1126.4(19.6 4,51 W 8.9 | WSW | WNW 86| 17.45| 1.5 — -
2122.9(27.4119.8 2.8 SE 4,0 | NE |SSE 3.4 12.98| 2.0| — —
1111 123.6126.51]20.8 7.4 | SSW | 16.0 | SSW | WNW 6.5 14.07| 0.5 | — -
4121.9|25.4|17.2 8 |WNW | 10.6 | WNW |WNW | 11,1 14.86]13.5| — —
5119.8123.016.8 5.1 | WNW 3.8 W W ho1| 12.46 | — - -
6120.0(23.4|17.4 4,31 S 88| NW |SSE 0.1 6.50| 3.0 — -
7120.9(23.4117.5 6.0 | WNW |11.2 | WNW W 4,8 9,41 1 13.0 | — —
8119.0]23.2114.1 4,3 | WINW 7.7 | NNW NW 57| 12.89| 7.0 — -
9119.1124.5]14.1 4,3 | SSE 6.5 | SSE | SSE 0.9 11.15| — - -
10120.9|24.6 |17.0 4,7 | SSE 6.9 | SSE | SSE 1.7 10.18 | 80| — -
GIaEtR11. 2 47,8 174. 3 49, 2 47.91121.95 | 48.5
G| 2101 1 24.8 | 17.4 4,9 12. 20
11 120,022,215 8 6.0 S 10.7] S W 0.7 4,32 136.0| — -
12 119.9123.5114.0 6.8 | WNW | 12,2 | WNW W 85| 13,56 2.5 — -
13 118.8126.2|11.6 3.7 | SSE h.8 | SSE S 6.7 15.80| — - -
14 117.5119.5 | 16. 2 4,4 | SSE 6.5 | SSE S 0 3.47| 1.5 | — -
15 118.724.6 | 15.2 3.8 | WNW 80| NW NW 531 12,00 3.0| — -
16 | 16.1(19.0]13.5 3.1| SE h.4 | NW SE 0 3,94 | — - _
17 115.7 | 17.5 | 14. 7 5,0 | WNW | 11.3 | WNW | WNW 0 3.24 1200 | — -
18 16.7120.5 (12,1 4,9 | WNW 9.1 | WNW W 4,31 10.63 | — - -
19116.0(23.2| 9.8 3.3 | WNW 6.9 NW NW |10.8] 19.18 | — - -
20115.8123.9| 9.8 3.6 | WNW 8, 4 | NNW NW |10.8) 18.95| — - —
BAEHLT5. 2 £20.1 132, 7 44. 6 47,1 110509 {69.0
B 17.5 1 22.0 | 13.3 4,5 10. 51
21116.0124.71] 9.5 4,1 | ENE 7.1 | ENE S 11,1 1957 — - -
22 117.2 12571 8.8 3.3 | WNW 5.9 | WNW NW |10.6| 17.85| — - —_
23119.6|26.8 |13.6 2.4 | ENE 5.5 W SSE 6.1 13.73| — - -
24 121.8126.7 1158 10.1 | SE |16.9 | SSW SE 3.7 10,17 2.5 | — -
25119.9122.7116.3 3.9 | WNW 8,2 | WNW | WNW 0.4 7.48 | 0.5 | — —
26 120.0|26.0 |15 8 2.5 NW 4,2 | NW NW 2.4 9. 73| — - —
27 120.2|127.9 15,7 891 W 15.5 | W W 2.9 8,67 9.5 — -
28 118.8121.9113.5 7.6 | WNW | 13.6 | WNW | WNW 6.9 10.03| 9.0 | — -
29 117.1124.9 |12. 4 b4 | SSE 7.2 | SSE S 6.8 14.38| — - -
30 117.9122.9|12.8 4,5 | SSW 8.4 | SSW W 80| 12.17| 0.5 — -
H}EE1188. 5 250, 2 134, 2 52,7 58,9 1123.78 122.0
Y| 18.9 | 25.0 | 13.4 b3 12. 38
14351574, 9 [718. 1 441, 2 146. 5 153.9 | 350. 82 139.5
3y 19.2 123.9 | 14.7 b7 11. 69
Y EHRIE : 14EHEDTY
SEOMERHEE - %
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2|8 | 5| K ¥ A I N S S I = B - S N =1 B =1 B | = 2 | K |/
H m/s 16507 m/s 1675670167507 (h) | MJ/m® | (mm) | (cm) | (cm)
1]16.3]22.7710.3 2.5 |SSE | 3.6 |SSE |#&E | 0.3] 880 — | — | —
2119.3[23.7]16.7 4,2 |SSE | 8.9 [SSE |WNW 0] 28285 — | —
3019.1]22.3]16.5 3.9 W 8.2 |SSW [wwW | 3.3] 914 — | — | =
4119.2122.1117.3 3.5[SSE | 7.7 | SSW |SSE 0] 350 40] — [ —
5118.8 [21.9]10.9 7.0 [WNW [17.2 | NW [WNW | 0.6] 7.05[25.5] — | —
614.4[17.3]10.5 7.8 |WNW [17.2 [WNW [wNW | 5.8] 9.36| 2.0 — | —
71126 [17.7] 7.1 4.9 [ WNW | 8.6 |WNW | NW [ 6.4] 9.76] 3.5 — | —
8113.6[20.8] 6.0 47| SE | 6.3 SE [ MWW | 5.2 10.29] 1.5 = | =
9]14.7]21.47110.6 45 W 9.1, W [SSE | 5.8] 11.19]10.0] — | =
10]13.6]21.1] 7.3 4.1 |SSE | 6.7 |ENE |SSE [10.2| 16.48| — | — | —
f14EHI61. 6 R11.0 [113.2 37.6 | 88.3975.0
By 16.2 [21.1 [ 11. 3 8. 84
11]14.71]22.21 7.8 39/ SE | 5.8 SE | SE | 811314 | — | = | =
121155241 7.9 39 |WNW | 6.9 NW [ N [ 91 1433 — | = | =
13]16.4[21.1] 9.8 3.4 |WNW | 6.2 [NNW [ NW | 84| 1443] — | = | =
14 [15.2[23.8] 8.5 2.6 | E 46| E WoJ10.0] 15.02] — | = | =
15162 [24.9] 9.1 30| NE | 5.0/ NE |[NW | 25| 863 — | — | =
16 [19.1]27.8]13.6 8.3 |WNW [16.9 |WNW | SE | 6.9 11.10]21.5| — | —
17 [18.320.415.1 6.3 [WNW [12.8 [wNw | W 8.0/ 9.8 50 — | —
18 [16.8 [20.4 [11.7 5.3 |WNW | 7.9 |WNW |WNW | 3.8] 893 — | — | =
19 [16.1]21.6 |10.9 45 W 82| W [ww | 7.2] 10.85[36.5| — | —
20 [15.0 [17.7 [ 11. 6 5.6 |WNW |12.6 |WNW [WW | 2.1] 568|120 — | —
E1E&EH162. 3 24.0 [106. 0 46. 8 66.1] 98.8575.0
B 16.2 | 22.4 [ 10. 6 4.7 9. 89
2115.1119.2 [11.7 3.5] W 6.6 W S L1] 7.16] 0.5 — | =
22 [14.7121.1110.6 6.0 E 8.5| E E 7.9 1.9 — | = | =
23 [15.2 [ 21.8]10.2 38| SE | 5.7 NW [ NW | 88| 1285 — | = | =
24 [14.3120.0 [11.2 4718 7.71 S NW 0] 310] 0.5] — | —
25 [15.2[17.3]12.9 10.5 |WNW [24.4 [wNw | W 29 4.831.0] — | =
26 [15.9[18.1[12.7 7.0 | WNW [ 13.7 [WNW [WNW | 3.3| 6.46| 7.5| — | —
27 [13.5[15.4[11.2 5.7 |WNW |10.1] NW [WNW | 3.4] 6.05| 55| — | —
28 [11.9117.71] 7.6 34| NE [ 6.2 NE ISSE | 9.5 13.53| — | — | —
29 [12.6]18.4 8.0 37| SE | 6.0 |ESE |ESE | 0.8] 545 — | — | —
30 [14.9 [21.3 [10.6 52| W 1.4 W [SSE | 5.2| 839] 80| — | —
31[15.9]18.913.0 6.2, S [10.1|WSW [SSW | 2.3] 5.06|12.0] — | —
E1AEH159. 2 09.2 [119.7 59. 7 36.2 | 84.77[71.0
B 15.9 [ 20.9 [ 12.0 6.0 8. 48
H&31H483. 1 b44. 2 B38. 9 106. 5 45.4 ] 91.93 £21.0
H3E4 15.6 | 20.8 | 10. 9 3.4 2.97
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=i m/s 164067 m/s 1601650 (h) | MJ/m’ | (m) | (cm) | (cm)
1111.0}14.2 | 6.4 7.8 | WNW | 17.0 | WNW | WNW 0 2,12 1340 — -
21 7.6 |11.3 | 4.1 .71 W 16.5 | WSW W 0.2 2,25 1360 — —
3110.5(13.8] 7.0 6.8 | NNW |19.6 | WSW W 1.2 2.83 13L0
4111.5{13.4| 8.8 7.0 |WNW | 13,8 | WNW | WNW 4,6 6. 47| — - —
h111.4114.5| 8.7 5,3 | WNW | 12.3 | WNW | WNW ) 7.41| 5.5 — —
6112.9)17.0 8.3 6.1 S 13.5| S SSW 5.9 9.35| 6.0 — —
7112.8120.1| 6.5 5 4 | SSE 7.2 | SSE | SSE 881 10.99| 7.5| — -
8§ 7.3 |15.6| 1.8 14,2 | WNW | 28.1 | WSW | WNW 0 0.92 1285 | — -
9] 6.9/10.8] 1.9 12,7 |WNW [28.0 ] W W 1.5 3.33 1175 | — —
101 9.2(12.2| 4.6 8,0 |WNW | 17.1 | WNW | SSE 1.3 3.85120.5| — -
)& EH101. 1 142, 8 | 568.1 81.0 29.0 | 49,52 186.5
&SR 101 114.3 | 5.8 8.1 4,95
11 80112.2| 2.8 7.5 | WNW | 14.5 | SSW W 1.2 215118 0| — —
12 110.6 |15.0 | 8.2 4,9 | SSW |10.9 | SSW | SSW 2.5 6.41| — — —
13110.4|18.9| 5.2 501 S 7.0 S S 8.1 9,98 | — — -
14 9.8119.5| 5.3 6.5 |WNW |13.7| NW W 0.4 4,24 131.0| — -
15| 5.4] 86| 2.6 9,7 |WNW |19.1 | WNW W 2.6 4,44 13,5 | — —
16| 83 |11.9| 4.1 4,3 | SSE 7.8 | SSW | SSW 2.7 h.48 | — - -
17 110.3112.5| 7.6 5,5 | SSW |10.7 | SSW W 0.1 1,93 3.0 — -
18 9.5|12.6 | 4.1 6.1 | WNW |10.2 | WNW W 7.8 8.8 | —
19| 7.3|17.01 1.0 3.0 SE 3.9 S S 87| 10.49| —
20 871551 3.1 o1 |WNW |1L.6 | W WNW 0 1.56 | 12.0
aIEEt 88.3 143.6 | 44.0 57. 6 34,1 55,60 775
G 8.8 (14.4 | 4.4 .8 5. 55
211 6.0 82| 2.0 3.7 | SSE 7.4 1 NW | WNW 0.6 2.99 | — - —
22| 4.7111.71-0.3 3.7 SE 6.0 | NE S 86| 10.36 | — - —
23| 7.4116.6 |-0.9 5.3 | SSW |12.3 | SSW | SSW 50 7.57| 40| — —
24| 5.3110.0] 2.8 85| S 12.7 | WNW | SSE 0,1 0.9848.5| — —
251 3.9 6.4 0.4 9.3 |WNW |17.4 | WNW W 0.1 1.59128.5| — -
26| 6.5|10.5| 3.2 9.2 S 17.6 | S SSE b1 8.05| 5.5 | — —
271 5.3 7.9 3.1 6.8 | WNW |13.8 | WNW | WNW 1.2 2,74 118.5| — —
281 5.5 6.9 2.5 .41 W 14,5 | WNW | WNW 0 2,03 2.0 — -
29| 5.8 7.0 4.2 6.3 |WNW [12.5] W WNW 0.1 2,02 45| — —
30| 5.6 86| 3.2 8,0 |WNW |14.9 | WNW W 1.3 3.64119.5| — —
f1E&EH 56.0 | 93.8 | 20. 2 68. 2 22.1 | 41.97 13L.0
GRS 5.6 1 9.4 2.0 6. 8 4, 20
H&atp4s. 4 380. 2 122.3 206. 8 85.2 | 146.99 B395. 0
A3 8.2 | 12, 4,1 6.9 4,90
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